

Neuk; : 60 epkplk;                            kjpg;ngz; : 25 

I. rupahd tpiliaj; Nju;njLj;J vOJf.                           𝟒 × 𝟏 = 𝟒 
1.  fiyf;$l;lkhff; fhl;rp jUtJ 

m) rpw;gf;$lk; M) Xtpaf;$lk; ,) gs;spf;$lk; <) rpiwf;$lk;  

2. fhe;jpabfs; _________ mb epoypy; ,Ue;J jkpo; fw;f Ntz;Lk; vd;W tpUk;gpdhu;. 
m) ehkf;fy; ftpQu;   M) ghujpjhrd;   
,) c.Nt.rhkpehju;     <) ghujpahu;  

3. E}yhil vd;Dk; nrhy;iyg; gpupj;J vOjf; fpilg;gJ 
m) E}y; + Mil M) E}yh + il ,) E}y; + yhil <) E}yh + Mil  

4. fhe;jpabfsplk; cil mzptjpy; khw;wj;ij Vw;gLj;jpa Cu; __________. 
m) Nfhit  M) kJiu  ,) jQ;rhT+u;  <) rpjk;guk;  

II. nghUj;Jf.                                             𝟒 × 𝟏 = 𝟒 
5.  ,yf;fpa khehL  - ghujpahu; 
6.  jkpo;ehl;Lf; ftpQu;  -  nrd;id 
7.  Fw;whyk;   -  [p.A.Nghg; 
8.  jkpo;f; ifNaL  - mUtp  

III. fPo;f;fhZk; njhlu;fspy; cs;s gpiofisj; jpUj;jp vOJf.          𝟓 × 𝟏 = 𝟓 
9. xU mofpa rpw;W}upy; Xu; Fsk; ,Ue;jJ. 

10. xU ,uTk; Xu; gfYk; Nru;e;jJ xUehs;. 

11. mJ ,y;yhj ,lj;jpy; vJTk; elf;fhJ. 

12. m/J efuj;jpw;Fr; nry;Yk; rhiy.  

13. mJ xU ,dpa ghly;.   

IV. gpd;tUk; tpdhf;fSs; vitNaDk; %d;W tpdhf;fSf;F %d;W thpfspy; 

tpilaspf;fTk;.                                            𝟑 × 𝟐 = 𝟔     
14. ,e;jpahtpd; Nkw;F> fpof;F Mfpa jpirfis ,izj;Jf; ftpQu; fhl;Lk; fhl;rpia 

vOJf.  
15. fhe;jpabfSf;Fj; jkpo; fw;Fk; Mu;tj;ij Vw;gLj;jpa epfo;itf; $Wf. 
16. nrhy; vd;why; vd;d?  
17. ngaiuAk; tpidiaAk; rhu;e;J tUk; nrhw;fis vt;thW toq;FfpNwhk;? 

V. gpd;tUk; tpdhf;fSs; vitNaDk; ,uz;L tpdhf;fSf;F MW thpfspy; 

tpilaspf;fTk;.                                             𝟐 × 𝟑 = 𝟔 
18. fhe;jpabfSf;Fk; jkpOf;Fk; cs;s njhlu;ig vOJf.  
19. NtYehr;rpahu; rptfq;ifia kPl;l epfo;itr; RUf;fkhf vOJf.   
20. fhe;jpabfspd; cil khw;wj;jpw;Ff; fhuzkhf mike;j epfo;tpid vOJf.  

******* 


